R T4t = (X HT

\\

SERREPIRKREHZREE FARFRH (HER)

o B = 0 & B BEREY BREZEDBERY %%ﬂizzzﬁg _ ] o
oy (7 +4] 1 1 M E W R g %
1| F28E 80.000]  0.65 80. 000 0.000f |W|BE#HK[()+(b)]

2 |AARMEFT O 1,628.000] 13.13 1, 628. 000 0. 000 () HEZDBELRK

3 Lol 663. 000 5.35 663. 000 0. 000 D) ABBHE BELBRO OBELY

4 |AH 2,071.000] 16.70 2,071. 000 0.000| | B)|HAS DB Y ETH-EH

5 [Z1F 5 o 42.000[ 0.34 42. 000 0. 000f 2;27’%‘?& ?\%ﬁ

6 |ERTWR 1,465.000] 11.81 1, 465. 000 0. 000 ¢

T EREE 507.000]  4.09 507. 000 0. 000| | )| EHBEHK[AD+B+(C)]

8 | BB 362.000]  2.92 362. 000 0.000| | (B) |#ESNIR =1

9 [AARFE—W 21.000] 0.17 21. 000 0. 000 | (F)|[HHEHLH%[D)+(E)]

10 [ A AL pE S 1,031.000] 8.31 1,031. 000 0. 000 T2

1 HE<icd v 10.000f 0.08 10. 000 0. 000 | @ E&go)mgﬂ HEbimY

12 |HHERFEY 3,911. 000/ 31.54 3,911. 000 0. 000 ZDith

13 (SR EW 380.000[  3.06 380. 000 0.000| |M|IFEEHLHELE)+@)]

14 [N HK 199. 000[ 1.60 199. 000 0.000| [(D[EZ=EH BEHR)

15 |HEBT B, - Bl 32.000] 0.26 32. 000 0. 000

B E B 2 B o)
& @ 12, 402. 000 12, 402. 000 0. 000




